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 M. Com (Previous) EXAMINATION, 2021 

(Compulsory Group) 

Paper Fourth  

STATISTICAL ANALYSIS 

Time : Three Hours ]  [ Maximum Marks : 100 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- ¼v½ iz’ukoyh D;k gksrh gS \ ,d vPNh iz’ukoyh dh fo’ks”krk,¡ 

crkb,A 

What is Questionnaire ? Describe the characteristics of 

a good questionnaire. 

¼c½ oxhZdj.k D;k gS \ oxhZdj.k ds mís’;ksa dks Li”V dhft,A 

What is Classification ? Explain the objectives of 

classification. 
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vFkok 

(Or) 

¼v½ nks uxjksa esa /kweziku dh vknr ds losZ{k.k esa fuEufyf[kr vk¡dM+s 

izkIr gq, % 

fooj.k ‘kgj A ‘kgj B 

dqy tula[;k esa iq#”k 52% 54% 

/kweziku djus okys 26% 28% 

/kweziku djus okys iq#”k 18% 20% 

mi;qZDr vk¡dM+ksa ls f}xq.k lkj.kh cukb,A 

In a sample study about the smoking habits in two 

towns the following data were observed : 

Particulars Town A Town B 

Male in Total population 52% 54% 

Smokers 26% 28% 

Male Smokers 18% 20% 

Tabulate/Prepare double table from the above  

data. 

¼c½ lkaf[;dh ds izfr vfo’okl ds dkj.kksa dks le>kb,A 

Explain the causes of distrust in Data. 
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bdkbZ&2 

(UNIT—2) 

2- fuEufyf[kr leadksa ls vk;q rFkk ijh{kk esa lQyrk ds e/; lglEcU/k 

xq.kkad dh x.kuk dhft, % 

vk;q ¼o”kks± esa½ vuqŸkh.kZ dk izfr’kr 
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From the following data, calculate coefficient of correlation 

between age and success in the examination : 

Age (in years) % of failers 
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vFkok 

(Or) 

fdlh izfr;ksxh ijh{kk esa ‘A’ ,oa ‘B’ fo”k; esa izkIrkad ds fy, 

fuEufyf[kr lead fn;s x;s gSa % 

 fo”k; ‘A’ fo”k; ‘B’ 

ek/; vad 39.5 47.6 

izeki fopyu vad 10.8 16.9 

‘A’ rFkk ‘B’ ds chp lglEcU/k xq.kkad = 0.42.  

izrhixeu dh nksuksa js[kkvksa ds lehdj.k Kkr dhft,A ‘A’ fo”k; ,oa 

‘B’ fo”k; ds lEHkkfor vad vuqekfur dhft, tcfd ‘B’ fo”k; ds 

vad 55 rFkk ‘A’ fo”k; ds vad 50 gSaA 

The following data are given for marks in subjects ‘A’ and 

‘B’ in a certain competitive examination : 

  Subject ‘A’ Subject ‘B’ 

Mean of Marks 39.5 47.6 

Standard Deviation of Marks 10.8 16.9 

Coefficient of correlation between ‘A’ and ‘B’ = 0.42. 

Obtain the equations of the two regression lines. Estimate the 

probable marks of subject A if the marks of subject ‘B’ are 

55 and estimate the probable marks of subject ‘B’ if the 

marks of subject A are 50. 

bdkbZ&3 

(UNIT—3) 

3- ¼v½ 1 ls 30 rd la[;k fy[ks gq, 30 fVdVksa esa ls ,d fVdV 

;knf̀PNd pquk tkrk gSA bl fVdV ij fy[kh la[;k 3 ;k 11 

dk vioR;Z gksus dh izkf;drk Kkr dhft,A 
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From 30 tickets marked with the first 30 numerals one 

is drawn at random. Find the probability that the 

number on this ticket is a multiple of 3 or 11. 

¼c½ ,d rk’k dh xìh ls fcuk okil j[ks ckjh&ckjh ls pkj iŸks 

;knP̀N;k fudkys tkrs gSaA D;k lEHkkork gS fd pkjksa ,dleku 

ewY; ds gksaxsA 

Four cards are drawn at random from a pack of cards 

one by one without replacement. What is the 

probability that the four cards thus drawn will be of the 

same value ? 

vFkok 

(Or) 

¼v½ fdlh iz’u dks gy djus ds fy, A ds izfrdwy la;ksxkuqikr  

7 % 6 gSA mlh iz’u ds gy djus ds fy, B ds vuqdwy 

la;ksxkuqikr 11 % 8 gSA iz’u dks gy gksus dh D;k izkf;drk gS 

;fn nksuksa iz;kl djrs gSa \ 

The odds against A solving a sum are 7 : 6 and the 

odds in favour of B solving the same are 11 : 8. What 

is the probability that the sum will be solved if both of 

them try it ? 

¼c½ v/kZ’kkL= dk ,d iz’u pkj fo|kfFkZ;ksa A, B, C vkSj D dks 

fn;k tkrk gS ftuds }kjk mlds gy djus dh laHkkouk Øe’k% 

1 1 1
, ,

2 3 4
 vkSj 

1

5
 gSA D;k laHkkouk gS fd iz’u gy gks  

tk;sxk \ 



 [ 6 ] E–3074 

A problem of Economics is given to four students A, 

B, C and D. Their chance of solving it are  
1 1 1

, ,
2 3 4

 and 

1

5
 respectively. What is the probability that it will be 

solved ? 

bdkbZ&4 

(UNIT—4) 

4- fuEufyf[kr izkfIr ¼ykHk½ rkfydk ds vk/kkj ij (i) vf/kdkf/kd] 

(ii) vf/kd U;wu rFkk (iii) U;wukf/kd fjxszV dlkSVh ds vUrxZr vki 

dkSu ls fodYi pqusaxs \ 

izkfIr rkfydk 

izkdr̀ voLFkk 
fodYi 

A B C D 

P 5 10 18 25 

Q 8 7 8 23 

R 21 18 12 21 

S 30 22 19 15 

Which alternative will you choose under the (i) maxima,  

(ii) maximin and (iii) minimax regret criterion based on the 

following payoff (Profit matrix) : 

Payoff Matrix 

State of 

Nature 

Acts 

A B C D 

P 5 10 18 25 

Q 8 7 8 23 

R 21 18 12 21 

S 30 22 19 15 
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vFkok 

(Or) 

NŸkhlx<+ ds fdlh ‘kgj esa 60000 o;Ld jgrs gSa] 25000 iq#”k gSa vkSj 

dqy 5000 Lukrdksa esa ls 800 fL=;k¡ gSaA ‘kgj ds 1000 jkstxkj izkIr 

Lukrdksa esa 700 iq#”k gSaA D;k fyax ds vk/kkj ij f’k{kk lqfo/kkvksa esa 

HksnHkko gS \ jkT; ds bl nkos dk fd fu;qfDr;ksa esa fyax ds vk/kkj ij 

dksbZ HksnHkko ugha fd;k tkrk] ijh{k.k dhft,A 

In a city of State C. G. with a total population of 60000 

adults, 25000 are males and out of a total of 5000 graduates, 

800 are females. Out of 1000 graduate employees of the 

state, 700 are males. Is there any sex bias in education 

among the peoples ? Also estimate the claim of the state that 

no distinction is made in appointments in respect of sex. 

bdkbZ&5 

(UNIT—5) 

5- ,d O;kikfjd laLFkk ds 2019 ds ykHk dks vUrosZ’ku }kjk vuqekfur 

dhft, % 

o”kZ ykHk 

2015 

2016 

2017 

2018 

2019 

2020 

587 

592 

595 

599 

? 

608 
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Estimate the profit for 2019 by interpolation of a trade 

institution : 

Year Profit 

2015 

2016 

2017 

2018 

2019 

2020 

587 

592 

595 

599 

? 

608 

vFkok 

(Or) 

izR;sd 9 ds vkdkj ds 14 izfrn’kks± ls lECk) fuEufyf[kr vk¡dM+ksa ds 

vk/kkj ij foLrkj (Range) ds fy, fu;a=.k pkVZ rS;kj dhft,A pkVZ 

esa dsoy dsUnzh; js[kk rFkk mPprj ,oa fuEurj js[kk,¡ gh [khapuh 

vko’;d gSaA 14 izfrn’kks± ds foLrkj dk ;ksx 420 lseh- gSA izfrn’kZ 

vkdkj 9 ds fy, vpj 1 2.93d  vkSj vpj 3 0.808d  gSA 

Draw a control chart for the range (R) from the following 

data relating to 14 samples, each of size 9 only the control 

line and the upper and lower control limits may be drawn in 

the chart. The sum of the 14 sample ranges is 420 cm. The 

constants 2d  and 3d  for sample size 9 are 2 2.93d  and 

3 0.808d . 
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